N\ ASHCROFT

Trust the shield?

ZT12 BBAEHNTIEEE

= 316L FAEPNIFERM R
= 0.18 ym Ra REFERERE(T]i%)

= 9416 -18 UNF BEER, EERAMTRERN
RIES R IMROUERE (FRE 2 VCRO )

= 100% S5

Class 100 52 ZEWNEGE
RE, BEEREEER

HBASEELE
Gas Sticks

HRESEDH



N\ ASHCROFT

Trust the shield?

[l TR
ZT12 BE4EHTiXe3

BE: +0.25% #HEIE(23°C) BE LM, RIFMESHRNTI
RE: <0.25% HERR/FE

BERM: +0.02% HEIR/°C (ERMFHERE) , TIERETEEN
ITERE: -20°C % 70°C

FHERE: -30°C %l 80°C

HXEE: 35% %l 85% RH

TheER&

BX#2: -0.1...0.3MPa, %I-0.1...20MPa *K[%: 0...0.3MPa % 0...20MP

B #8%: 0...0.3MPa % 0...20MPa

e Rz B ] - < 5 mSec (10% % 90% £725EE)

iR <5 x 107" mbar I/s

oE: 150% HEfE

T 4-20 mA (2 £&41)

fit B R E: 12-24 Vdc

A E B pE: R max (Q) = 50 (V supply) - 500 (I {4 8 B3 BE - £ £ 53 PE #h £%)
#5afH: > 100MQ ,50 Vdc

EMC/EMI: EN61326-1: 2013, EN61326-2-3: 2013

iEiak-27 8 IP67

St 304 FEW, PBT

BEEO: 9/16-18UNF (32&% VCR®)EIE, Hed Al T EUER IR IRS R SMESUE
REME: 0.18 ym Ra 3 0.5 um Ra

B8 £ 709

BRM R

ii2=3H 316L W
INIE

CE, UKCA, RoHS

20of5


mailto:sales@ashcroft.com.cn
mailto:sales@ashcroft.com.cn

W ASHCROFT

Trust the shield?

[l TR
ZT12 BE4EHTiXe3

TR ; ZT12 3 MVS 42 E4 1 20MP G -X1N

ZT12 ZT12

FBE

3-+0.25% HEE 3

diEEO

MVF - %6-18 UNF (3% 1/4 VCR®) EIE TV IMBLL

MVS - %6-18 UNF (32 1/4 VCR®) hefzzlIMEL MVS

FVS - %6-18 UNF (3821/4 VCR®) hieds = IR ST

MVT - %6-18 UNF (A 1/4 VCR®) TELE RV IMESL

A

42 - 4-20 mA (2 ZHl) 42

BSEN

E4 - M12 X138 (4 ) HEEXHERR SKLEM -

RELE/FEER

0 - GP £ 0.5um Ra & BitBsi5 5%

1 - EP £ 0.18um Ra & &% T 0.1um S E AFHL 1

EHEE

NP1/P3MP - 0.1...0.3MPa

NP1/P5MP - 0.1...0.5MPa

NP1/1MP - 0.1...1MPa

NP1/2MP - 0.1...2MPa

NP1/3P5MP - 0.1...3.5MPa

NP1/5MP - 0.1...5MPa

NP1/10MP - 0.1...10MPa

NP1/20MP - 0.1...20MPa

P3MP - 0...0.3MPa

PSMP - 0...0.5MPa

1MP - 0...1MPa

2MP - 0...2MPa

3P5MP - 0...3.5MPa

5MP - 0...5MPa

10MP - 0...10MPa

20MP - 0...20MPa 20MP

A]3% psi 3 bar L4

FREBERI FTUTEBIER

EH%ER

G - RIEHEXIE G

A-HBE

FAET (EEEIALRRTM-X") X

1N - MBI IR S 1N



mailto:sales@ashcroft.com.cn
mailto:sales@ashcroft.com.cn

W ASHCROFT

Trust the shield?

[l TR
ZT12 BE4EHTiXe3

EERER
(E: HNERERIHHAEE)

V/45# N1/3BR NP1/P3MP
V/75# N1/5BR NP1/P5MP
V/150# N1/10BR NP1/1MP |
V/250#
V/300# N1/20BR NP1/2MP i 2R
V/500# N1/35BR NP1/3P5MP
1 HE(+) kR
V/750# N1/50BR NP1/5MP
2 - =
V/1500# N1/100BR NP1/10MP
3 fHE() L
V/30004# N1/200BR NP1/20MP
4 | =
454+ 3BR* P3MP*
75#* 5BR* P5MP* .
wLA
1504 10BR* 1MP*
250# 17BR 1P7MP
115
3004 20BR* 2MP* +
5004~ 35BR* 3P5MP* 112 - HEBR
e -
7504 50BR* 5MP* _Oe“‘“— a5
+ - -
1500+ 100BR* 10MP*
30004 200BR* 20MP*
1- AR HEB (+)
3- A fHEB ()

fites - SaEiEBM

fitee B [E-h E R FE R
1000
900
800
700
o 600
% 500
E 400
300 1
00 TieEiE
/
100 7
0
8 10 12 14 16 18 20 22 24 26 28 30
{LEB BB K (Vdc)
R Lmax RLMIiN —————



mailto:sales@ashcroft.com.cn
mailto:sales@ashcroft.com.cn

W ASHCROFT

Trust the shield?

[l TR
ZT12 B APFIRENTIXE

R~ (mm)
NitsE, BERT1ES18 Asheroft T

MVS - %6 -18 UNF (3&8&Y. VCR®) Hefral IMELL MVT - %5 -18 UNF (38& ¥4 VCR®) T U@ RN IMEALSL

@ 25.4

@254
—_ ——

[t ) ’ TR
ey L)
| k/ L
3 N Z
- | M12X1 - 4 $
82 1 M12X1- 4% 82 g
FBS IR i I
" :

%s-18 UNF
(32 VCRY)

T BB SRR

— %6-18 UNF
(3% Y%VCR?)

FesEatsMEL
6 |
@ 2
MVF - %6 -18 UNF (&Y VCR®) BElE X IMELL FVS - %6 -18 UNF (F8&Ys VCR®) Hefr i IRSL
|
|
@ 25.4 * \ I @ 25_4_—
126 12.6
220 . —
8.2 r M12X1 - 4 §F 82 M12X1 - 4 §t
—‘ B AR
=T
i 66.3
i [® 47.2
i i . 9.1
I 69,5
]I[ || - .
74 %6-18 UNF
(3% ¥ VCR") I y
BEERIMES : L 4 :;:; ,\\‘/ZR@)
22 fidtedat



mailto:sales@ashcroft.com.cn
mailto:sales@ashcroft.com.cn



